Algebra 11
7-1
Completing the Square



General Form of the Quadratic - ,5 = M2+ bx +C

Most Basic Quadratic Equation - Y= )(?-



Solve. (pg309)
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13) x*-2x-5=0

(x+ Hx- D=0
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Solve.

13) x*-2x-5=0

Completing the Square

ax’+bx+c=o0

ax*-2x )-5=0

1) Isolate c.

‘M 5.9! ({obl

2) Geta=1.

(X"-Zx + l) ~5-1=0

3) Take b, half it, square it,
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C*?_-_ 2x & b -4=0 / and apply to equation.
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4) Solve.
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Solve.

27) 2 +4t+1=0

Completing the Square

ax’+bx+c=o0
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Solve. Completing the Square
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29) (FL-L+1=0)z yhagd=0| ax+bx+c=o
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Solve.
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